

FINANCIAL SUMMARY February 9, 2023 to March 8, 2023

Beginning B	alance - Ke	y Community Bank		\$98,155.90		
Interest	2/1/2023	January 2023 Interest	+	\$0.58		
Deposits			+ + +			
To be approv	ved at this r	neeting:				
Key Commu Bank Fee 3792 3793 3794 3795	nity Bank: 2/1/2023 3/8/2023 3/8/2023 3/8/2023 3/8/2023	January 2023 Paper Statement Free Campbell Knuston Bolton & Menk Barr Engineering wsb	-	\$2.00 \$34.00 \$1,350.00 \$14,441.50 \$11,397.50		
Available Ba	Available Balance at Key Community Bank					
Gateway Bar	nk Accounts	<u>s:</u>				
<u>Savi</u> Deposits	<u>ngs</u> 2/1/2023	Balance February 2023 Interest	+	\$72,155.54 \$116.04		
		Savings Ending Balance		\$72,271.58		
<u>Chec</u>	king	Balance		\$1,000.00		
		Checking Ending Balance	-	\$1,000.00		
Available Ba	lance at Ga	teway Bank		<u>\$73,271.58</u>		
Available Ba	lance - Key	Community & Gateway Banks	_	<u>\$144,203.06</u>		

LMRWMO 2023 Budget & Financi	al Summary			202	3 Monthly Reve	enue				
Revenue	Budget	Dec 15, 2022 - Jan 11 2023	Jan 12 - Feb 8 2023	Feb 9 - Mar 8 2023	Mar 9 - April 12 2023	April 13 - May 10 2023	May 11 - June 14 2023	2022 Total	Variance	Percent Received
Dues from Members	\$127,309.00		\$127,309.12					\$127,309.12	(\$0.12)	100%
Interest	\$600.00	\$114.78	\$123.09	\$116.62				\$354.49	\$245.51	59%
LMCIT Rebate	\$250.00		\$598.00					\$598.00	(\$348.00)	239%
Combined Grant Income	\$154,260.50							\$0.00	\$154,260.50	0%
Subtotal Operating Revenue	\$282,419.50	\$114.78	\$128,030.21	\$116.62	\$0.00	\$0.00	\$0.00	\$128,261.61		
Grant Income	\$154,260.50									
				202:	3 Monthly Expe	nses				
Expenses	Budget	Dec 15, 2022 - Jan 11 2023	Jan 12 - Feb 8 2023	Feb 9 - Mar 8 2023	Mar 9 - April 12 2023	April 13 - May 10 2023	May 11 - June 14 2023	2022 Total	Remaining Budget	Percent Expended
Engineering/Technical Assistance										
Technical Assistance	\$5,500.00		\$956.00	\$777.50				\$1,733.50	\$3,766.50	32%
Meetings	\$6,500.00		\$605.50	\$372.00				\$977.50	\$5,522.50	15%
Pine Bend Ravine Study	\$5,000.00									
Watershed Plan Amendment ³	\$26,500.00		\$3,902.35	\$1,388.00				\$5,290.35	\$21,209.65	20%
Project Planning/Implementation	•	•	•		•	•	•	•	•	
Plan Implementation	\$5,400.00							\$0.00	\$5,400.00	0%
WBIF-19 Matching Funds	\$0.00									
WBIF-21 Matching Funds	\$9,300.00									
Landscaping for Clean Water Projects	\$12,000.00		\$1,500.00					\$1,500.00	\$10,500.00	13%
Water Monitoring	\$12,200.00	\$1,900.00	\$5,018.50					\$6,918.50	\$5,281.50	57%
Education										
Landscaping for Clean Water Classes	\$10,800.00							\$0.00	\$10,800.00	0%
MN Water Stewards Program	\$10,000.00		\$382.50					\$382.50	\$9,617.50	4%
Storm Drain Stenciling Program	\$4,500.00									
Adopt A Drain Welcome Kits ²	\$1,500.00									
WMO Tabling/Event Materials	\$500.00							\$0.00	\$500.00	0%
Illicit Discharge Video ⁴	\$1,200.00		\$1,400.00					\$1,400.00	(\$200.00)	117%
Tour	\$5,400.00		\$85.00					\$85.00	\$5,315.00	2%
Metro Watershed Partners Membership	\$1,000.00	\$1,000.00						\$1,000.00	\$0.00	100%
Website Update / Maintenance	\$2,800.00		\$85.00					\$85.00	\$2,715.00	3%
Board Education	\$200.00							\$0.00	\$200.00	0%
Administration										
General Administration	\$34,400.00	\$2.00	\$9,869.50	\$2.00				\$9,873.50	\$24,526.50	29%
Insurance	\$2,500.00							\$0.00	\$2,500.00	0%
Attorney and Audit	\$5,500.00	\$401.00	\$182.60	\$34.00				\$617.60	\$4,882.40	11%
Subtotal Operating Expenses	\$162,700.00	\$3,303.00	\$23,986.95	\$2,573.50	\$0.00	\$0.00	\$0.00	\$29,863.45	\$112,536.55	18%
Estimated Grant Expenses	\$138,000.00	\$19,331.27	\$15,133.60	\$24,651.50	\$0.00	\$0.00	\$0.00	\$59,116.37	\$215,784.10	43%
0	verall Fund Balance	\$82,401.78	\$171,311.44	\$144,203.06	\$144,203.06	\$144,203.06	\$144,203.06	Approx. Year End	I Fund Balance	\$64,121.28
	Total Grant Balance	-\$45,618.31	-\$60,751.91	-\$85,403.41	-\$85,403.41	-\$85,403.41	-\$85,403.41			

2022 Budget Notes:

1. \$15,000 set aside for 2033 Watershed Plan Update, \$5,000 additional annually encumbered.

Unencumbered Operating Fund Balance¹

LMRWMO Operating Fund Balance

\$36,783.47

\$21,783.47

\$110,559.53

\$95,559.53

\$58,799.65

\$43,799.65

\$58,799.65

\$43,799.65

\$58,799.65

\$43,799.65

\$58,799.65

\$43,799.65

- 2. \$1,500 Added to Budget for Adopt a Drain Welcome Kits at 1-8-23 Meeting
- 3. Includes \$20,000 in unspend carryover from 2022.
- 4. Is an unspent carryover from 2022.

General: Budget is an estimate and will vary depending on changing priorities and grant project progress.

Grant Administration Education Program Implementation	### Budget ###################################	Aggregate Prior to Jan 12, 2022	Jan 13, 2022 - Jan 11, 2023	Jan 12 - Feb 8 2023	Feb 9 - Mar 8 2023	Mar 9 - April 12 2023	April 13 - May 10 2023	May 11 - June 14 2023	Total	Variance	Percent Received/ Expended
Revenue BWSR FY-2019 WBIF Payment WBIF Matching Funds Total Revenue Expenses Grant Administration Education Program Implementation	\$144,670.00 \$59,640.00	\$72.335.00									
BWSR FY-2019 WBIF Payment WBIF Matching Funds Total Revenue Expenses Grant Administration Education Program Implementation	\$59,640.00	\$72.335.00									
WBIF Matching Funds Total Revenue Expenses Grant Administration Education Program Implementation	\$59,640.00	\$/2.335.00	,		,				#70 00F 00	\$70.005.00	500/
Total Revenue Expenses Grant Administration Education Program Implementation		Ţ. 2 ,000.00					\longmapsto		\$72,335.00	\$72,335.00	50%
Grant Administration Education Program Implementation	⊅∠∪4,310.00	\$72,335.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00 \$72,335.00	\$59,640.00 \$131,975.00	0% 35%
Grant Administration Education Program Implementation						<u></u>	11				
Education Program Implementation	\$8,000,00	\$497.43	\$2,767.00	\$1,219.00	1		Г		\$4,483.43	\$3,516.57	56%
	\$36,000.00	\$1,899.87	\$24,294.44		\$1,350.00				\$30,684.71	\$5,315.29	85%
Education Program Project Dev.	\$4,670.00	\$913.75	\$7,172.47		Ψ1,000.00				\$8,283.72	(\$3,613.72)	177%
Education Program Project Dev. Match (WMO)	\$4,640.00	\$0.000	\$3,040.00	\$101.00					\$3,040.00	\$1,600.00	66%
Interstate Valley Creek Project Dev.	\$4,000.00	\$339.96	\$6,323.50	\$1,224.50					\$7,887.96	(\$3,887.96)	197%
Interstate Valley Creek Study	\$44,000.00	4000.00	\$32,873.25		\$11,397.50				\$44,270.75	(\$270.75)	101%
Interstate Valley Creek Study Match	\$25,000.00	+	\$25,000.00		ψ11,001.00				\$25,000.00	\$0.00	100%
Lake Augusta Project Development	\$4,000.00	\$2,334.62	\$4,498.22	\$1,382.50					\$8,215.34	(\$4,215.34)	205%
Lake Augusta Study	\$44,000.00		\$25,559.80	\$7,969.70	\$11,904.00				\$45,433.50	(\$1,433.50)	103%
Lake Augusta Study Match	\$30,000.00		\$30,000.00	V 1,0000	411,001100				\$30,000.00	\$0.00	100%
Total Expenses	\$204,310.00	\$5,985.63	\$161,528.68	\$15,133.60	\$24,651.50	\$0.00	\$0.00	\$0.00	\$207,299.41	-\$2,989.41	101%
FY-19 WBIF Balance		\$66,349.37	-\$95,179.31		-\$134,964.41			-\$134,964.41	-\$134,964.41	1	
BWSR - FY 2021 Watershed Based Implement	tation Funding										
Revenue											
BWSR FY-2021 WBIF Payment	\$93,042.00	\$46,521.00							\$46,521.00	\$46,521.00	50%
WBIF Matching Funds	\$9,304.00								\$0.00	\$9,304.00	0%
Total Revenue	\$102,346.00	\$46,521.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$46,521.00	\$55,825.00	45%
Expenses				11		<u> </u>	<u> </u>				
Grant Administration	\$10,042.00		1						\$0.00	\$10,042.00	0%
Erosion & Direct Drainage Study	\$71,000.00	+							\$0.00	\$71,000.00	0%
Erosion & Direct Drainage Study Match (WMO)	\$9,304.00	+							\$0.00	\$9.304.00	0%
Project Development	\$12,000.00	+							\$0.00	\$12,000.00	0%
Total Expenses	\$102,346.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$102,346.00	0%
FY-21 WBIF Balance	V 102,0 1000	\$46,521.00	\$46,521.00		\$46,521.00			\$46,521.00	\$46,521.00	V 102,0 1010	
MAL DAID. Caidle Lake Chareline LOCAD Cree	-4										
MN DNR - Seidls Lake Shoreline LCCMR Gran Revenue	ιτ										
Grant Reimbursement Payments	\$382,000.00								\$0.00	\$382,000.00	0%
Matching funds	\$75,000.00	+							\$0.00	\$75,000.00	0%
Total Revenue	\$457,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$457,000.00	0%
Expenses	400 000 00		,						# 2.22	400 000 00	
Grant Administration/Project Mgmt	\$26,000.00						\longmapsto		\$0.00	\$26,000.00	0%
Construction	\$356,000.00	+					\longmapsto		\$0.00	\$356,000.00	0%
Engineering - Construction Docs	\$37,500.00								\$0.00	\$37,500.00	0%
Engineering - Const. Mgmt, Permits, Bids Total Expenses	\$37,500.00	***	***	20.00	***	£0.00	***	\$0.00	***	£440 F00 00	00/
Seidls Lake Shoreline Balance	\$457,000.00	\$0.00 \$0.00	\$0.00 \$0.00	 	\$0.00 \$0.00			\$0.00 \$0.00	\$0.00 \$0.00	\$419,500.00	0%
Seluis Lake Shoreline Balance		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$U.UU		
	Budget	Aggregate Prior to Jan 12, 2022	Jan 13, 2022 - Jan 11, 2023	Jan 12 - Feb 8 2023	Feb 9 - Mar 8 2023	Mar 9 - April 12 2023	April 13 - May 10 2023	May 11 - June 14 2023	Total	Variance	Percent Received/ Expended
TOTAL GRANT FUNDS RECEIVED	\$763,656.00	\$118,856.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$118,856.00	\$644,800.00	16%
		\$0.00						\$0.00	\$118,836.00	\$143.944.00	0%
		\$0.00						\$0.00	\$3.040.00	\$644,800.00	
PASS THROUGH MATCH RECEIVED	£12 044 00		g.1.11411.1111	au.uu.	\$U.UU	φυ. υ υ	Ψ υ.υυ	au.uu	93.040.00	3U++.0UU.UU	22%
	\$13,944.00	\$0.00	\$5,545.00	Ţ3.00				70.00	, , , , , , , , , , , ,	+ 0,000.00	
PASS THROUGH MATCH RECEIVED LMRWMO MATCH PROVIDED GRANT EXPENSES (MINUS WMO MATCH)	\$749,712.00	\$5,985.63	\$158,488.68	\$15,133.60	\$24,651.50			\$0.00	\$207,299.41	\$542,412.59	28%
PASS THROUGH MATCH RECEIVED LMRWMO MATCH PROVIDED	\$749,712.00		\$158,488.68	\$15,133.60					\$207,299.41 \$58,040.00		

CAMPBELL KNUTSON Professional Association Attorneys at Law Federal Tax I.D. #41-1562130 Grand Oak Office Center I 860 Blue Gentian Road, Suite 290 Eagan, Minnesota 55121 (651) 452-5000

Lower Mississippi River WMO c/o Nancy Bauer City of Mendota Heights 1101 Victoria Curve Mendota Heights MN 55118 Page: 1 January 31, 2023 Account # 601-0000G

RE: GENERAL SERVICES RENDERED TO DATE:

01/26/2023	JJJ	Emails Joe regarding next meeting, review draft minutes. AMOUNT DUE	HOURS 0.20 0.20	34.00 34.00
		TOTAL CURRENT WORK		34.00
		PREVIOUS BALANCE		\$583.60
01/20/2023		Payment - thank you		-401.00
		TOTAL AMOUNT DUE		\$216.60



Real People. Real Solutions.

Please Remit To: Bolton & Menk, Inc.
1960 Premier Drive | Mankato, MN 56001-5900
507-625-4171 | 507-625-4177 (fax)
Payment by Credit Card Available Online at www.Bolton-Menk.com
To Ensure Proper Credit, Provide Invoice Numbers with Payment

Lower Mississippi River WMO
Joe Barten, Administrator via Dakota SWCD
c/o 4100 220th Street West, #102
joe.barten@co.dakota.mn.us
Farmington, MN 55024

January 30, 2023

Project No:

0X1.127007

Invoice No:

0306433

Client Account: LMSRWDMO_WD_MN

LMRWMO/Spanish Language Smart Salting

Professional Services from November 26, 2022 to December 23, 2022

Stakeholder Engagement (001)				
Professional Services				
	Hours	Rate	Amount	
Specialist	.50	140.00	70.00	
Initial Outreach to Schedule				
Specialist	.50	140.00	70.00	
Meeting Update				
Specialist	1.50	140.00	210.00	
Report Review and Edits, Meeting				
Totals	2.50		350.00	
Total Labor				350.00
		Total this Task		\$350.00

		Total th	IS Task	\$350.00	
eporting and Results Tracking (003)					
ofessional Services					
	Hours	Rate	Amount		
Senior Project Manager review final report	.50	200.00	100.00		
Specialist	1.50	90.00	135.00		
Connie Review of Final Memo. Edits Following Meeti	ing.				
Specialist	1.00	90.00	90.00		
Edits to Final Memo.					
Specialist	2.50	90.00	225,00		
Final Memo.					
Specialist	1.50	90.00	135,00		
Internal Meeting on Memo Review. Edits to Memo. C	o-trainer Reach Out.				
Specialist	.50	90.00	45.00		
Memo Edits: Addition of MPCA Insight.					
Specialist	.50	90.00	45.00		
Memo: Final Formatting and Send out to MPCA for R	Review.				
Specialist	1.00	90.00	90.00		
October Summary of Work. Final Memo.					
Specialist	1.50	90.00	135.00		
Review and Add MPCA Edits. Compile Folder with D LMRWMO.	eliverables, Organize	, Send to			
Totals	10.50		1,000.00		
Total Labor				1,000.00	

Project	0X1.127007	LMRWMO/Spanish Language Smart Salting	Invoice	0306433	
		Total this Task		\$1,000.00	
		Total this Invoice		\$1 350 00	

Project	0X1.127007	LMRWMO/Spanish L	anguage Sma	rt Salting	Invoice	0306433
3illing	g Backup				Tuesday, Feb	ruary 7, 2023
Bolton & N	•	Invoice	0306433 Da	ted 1/30/2023	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	6:39:08 PM
Project	0X1.127007	LMRWMO/Spa	nish Languag	e Smart Salting		
- Task						
	nal Services	akeholder Engageme	1 I L			
TOTESSIO	iai Services		Hours	Rate	Amount	
Specia	list		Hours	Nutc	Amount	
71978	110 - Farber, Kathryn <i>Initial Outreach to Schedule</i>	11/9/2022	.50	140.00	70.00	
71978	110 - Farber, Kathryn Meeting Update	11/14/2022	.50	140.00	70.00	
71978	110 - Farber, Kathryn Report Review and Edits, Me	11/17/2022 eting	1.50	140.00	210.00	
	Totals Total Labor		2.50		350.00	350.00
				Total thi	is Task	\$350.00
ask	003 Re	eporting and Results 1	racking			
rofessior	al Services					
			Hours	Rate	Amount	
Senior 71974	Project Manager 107 - Fortin, Constance review final report	11/28/2022	.50	200.00	100.00	
Specia	list					
71975	110 - Randolph, Caralie October Summary of Work. F		1.00	90.00	90.00	
71975 71975	110 - Randolph, Caralie Final Memo.	11/9/2022	1.00	90.00	90.00	
71975	110 - Randolph, Caralie Final Memo. 110 - Randolph, Caralie	11/11/2022 11/14/2022	1.00	90.00	90.00 45.00	
1070	Final Memo.	: 37 : -7202.2	.50	30.00	45.00	
71975	110 - Randolph, Caralie Internal Meeting on Memo Re	11/17/2022 eview. Edits to Memo. Co	1.50 o-trainer Reach	90.00 Out.	135.00	
71975	110 - Randolph, Caralie Edits to Final Memo.	11/18/2022	1.00	90.00	90.00	
71975	110 - Randolph, Caralie Connie Review of Final Memo			90.00	135.00	
71975	110 - Randolph, Caralie Memo Edits: Addition of MPC		.50	90.00	45.00	
71975	110 - Randolph, Caralie Memo: Final Formatting and S			90.00	45.00	
71975	110 - Randolph, Caralie Review and Add MPCA Edits. to LMRWMO.	12/16/2022 . Compile Folder with De	1.50 Hiverables, Orga	90.00 anize, Send	135,00	
	Totals		10.50		1,000.00	4 44
	Total Labor			Total thi	s Task	1,000.00 \$1,000.00
				Total this F	Project	\$1,350.00
				Total this I	Report	\$1,350.00



MEMORANDUM

To:

Nancy Bauer

From:

Joe Barten, LMRWMO Administrator

Subject:

Lower Mississippi River - Financial Actions

Date:

February 8, 2023

Enclosed please find the following final invoice for payment:

 \$1,350.00 to Bolton & Menk for the FY-2019 Watershed Based Implementation Funding Spanish Chloride Education project.

Thank you and please contact me with any questions.

Joe Barten

Administrator via Dakota County SWCD

Lower Mississippi River Watershed Management Organization

Enclosed: Bolton & Menk Invoice # 0306433



INVOICE

Ms. Nancy Bauer Lower Mississippi River Water Mgmt. Org. City of Mendota Heights 1101 Victoria Curve Mendota Heights, MN 55118 Barr Engineering Co. 4300 MarketPointe Drive, Suite 200 Minneapolis, MN 55435 Phone: 952-832-2600; Fax: 952-832-2601

FEIN #: 41-0905995 Inc: 1966

Remittance address: Lockbox 446104 PO Box 64825 St Paul, MN 55164-0825

February 16, 2023

Invoice No:

23190078.00 - 255

Total this Invoice

\$1,149.50

Regarding: Watershed Management Organization

The following invoice is for professional services related to the above project, which include:

- Finishing review of the City of Lilydale Local Water Management Plan update and sending a letter of Board approval to the city.
- Reviewing and providing comment on watershed-based implementation funding draft scope items
- Preparing for and attending the December 14, 2022 Board of Managers meeting
- Communicating with LMRWMO Administrator and project management

Professional Services from December 3, 2022 to December 31, 2022

Job	2020	2020 Engineering Services				
Task	001	Board Meetings				
Labor Charges						
			Hours	Rate	Amount	
Engineer / Scie	entist / Specialist	III				
Williams, S	Sterling		2.40	155.00	372.00	
			2.40		372.00	
	Subtotal Labor					372.00
				Task S	Subtotal	\$372.00
Task	002	Technical Assistance				
Labor Charges						
			Hours	Rate	Amount	
Vice President						
Kieffer, Jar	nna		.20	185.00	37.00	
Engineer / Scie	entist / Specialist	III				
Williams, S	Sterling		4.10	155.00	635.50	

Project	23190078.00	Lower Mississippi River			Invoice	255	
Suppoi	rt Personnel II						
Ny	pan, Nyssa		1.00	105.00	105.00		
			5.30		777.50		
	Subtotal Labor					777.50	
				Task Subtotal		\$777.50	
				Job Subtotal		\$1,149.50	
				Total this Invoice	e	\$1,149.50	

Thank you in advance for your prompt processing of this invoice. If you have any questions, please contact your Barr Project Manager, Janna M. Kieffer Phone: 952-832-2785 or E-Mail: jkieffer@barr.com.

Barr declares under the penalties of law that this account, claim or demand is just and no part of it has been paid.

Authorized By:

Janna Kieffer

	ng Backup				Thursday, Feb	oruary 16, 2023
Barr En	gineering Co.	***************************************	e 255 Dated			10:24:52 AN
Job	2020	2020 Engineering Service	S			
 Task	001	Board Meetings				
Labor (harges					
			Hours	Rate	Amount	
Enginee	r / Scientist / Specialist III					
	Engineer / Scientist / Speci					
SGW	3 - Williams, Sterling	12/14/2022	2.40	155.00	372.00	
	Prep for and attend 12/1	4 LMRWMO Board Meeting	2.40		372.00	
	Subtotal Lal	oor	2.40		372.00	372.00
	Jubiotal Ear					312.00
				Task S	ubtotal	\$372.00
 「ask	002	Technical Assistance		*******		
	harges	rechnical Assistance				
	inui ges		Hours	Rate	Amount	
/ice Pre	sident					
	Vice President					
MK2	1 - Kieffer, Janna	12/5/2022	.10	185.00	18.50	
1.41/0	invoice review	40 (00 (000				
MK2	1 - Kieffer, Janna review invoice	12/30/2022	.10	185.00	18.50	
nginee:	r / Scientist / Specialist III					
	Engineer / Scientist / Speci	alistIII				
SGW	3 - Williams, Sterling	12/5/2022	1.50	155.00	232.50	
2011	Lilydale review memo	40.66.0000				
GW	3 - Williams, Sterling WBIF review/revision	12/6/2022	1.60	155.00	248.00	
SGW	3 - Williams, Sterling	12/30/2022	1.00	155.00	155.00	
	letter to City of Lilydale r					
Support	Personnel II					
	Support Personnel II					
ΠN	9 - Nypan, Nyssa	12/5/2022	.40	105.00	42.00	
IJN	9 - Nypan, Nyssa	12/6/2022	.20	105.00	21.00	
IJN	9 - Nypan, Nyssa	12/29/2022	.40	105.00	42.00	
	Subtotal Lak	.0.4	5.30		777.50	ang mgi mgi tan di
	Subtotal Lat	701				777.50
				Task Si	ubtotal	\$777.50
				Job Si	ubtotal	\$1,149.50

Project

23190078.00

Lower Mississippi River

Invoice

255

			······································		
Project	23190078,00	Lower Mississippi River	Invoice	255	

Total this Report

\$1,149.50



INVOICE

Mr. Joe Barten Lower Mississippi River Water Mgmt. Org. c/o Dakota County SWCD Suite 102 4100 220th Street West Farmington, MN 55024 Barr Engineering Co. 4300 MarketPointe Drive, Suite 200 Minneapolis, MN 55435 Phone: 952-832-2600; Fax: 952-832-2601

FEIN #: 41-0905995 Inc: 1966

Remittance address: Lockbox 446104 PO Box 64825 St Paul, MN 55164-0825

February 16, 2023

Invoice No:

23191436.00 - 26

Total this Invoice

\$1,388.00

Regarding: Fourth generation update to the Lower Mississippi River WMO Watershed Management Plan

The following invoice is for professional services related to the above project, which include:

- Coordinating with BWSR staff and the Administrator to prepare to present at the BWSR Central Region Subcommittee Meeting
- Reviewing overall Plan status and identifying remaining edits and outstanding items
- Communicating with LMRWMO Administrator and project management

Job	Task	 Contract Budget	Р	reviously Billed	Invoice Amount	To	otal Billed	E	Balance
	1A0	\$ 1,210.00	\$	2,162.00		\$	2,162.00	\$	(952.00)
	1B0	\$ 2,930.00	\$	3,865.00		\$	3,865.00	\$	(935.00)
	1C0	\$ 1,550.00	\$	898.50		\$	898.50	\$	651.50
ENG -	1D0	\$ 	\$	-		\$	-	\$	-
Stakeholder Engagement	1E0	\$ 3,580.00	\$	-		\$	-	\$	3,580.00
2gaga	1F0	\$ 3,520.00	\$	818.00		\$	818.00	\$	2,702.00
	1G0	\$ 4,880.00	\$	4,861.50		\$	4,861.50	\$	18.50
	1H0	\$ 3,170.00	\$	3,962.00		\$	3,962.00	\$	(792.00)
	2A0	\$ 6,890.00	\$	7,647.50		\$	7,647.50	\$	(757.50)
PLAN -	2B0	\$ 6,730.00	\$	2,586.00		\$	2,586.00	\$	4,144.00
Prepare Draft	2C0	\$ 6,840.00	\$	8,336.50		\$	8,336.50	\$	(1,496.50)
Plan	2D0	\$ 7,540.00	\$	3,999.00		\$	3,999.00	\$	3,541.00
	2E0	\$ 7,710.00	\$	6,995.50		\$	6,995.50	\$	714.50
	3A0	\$ 4,240.00	\$	1,258.70		\$	1,258.70	\$	2,981.30
REV - Review and	3B0	\$ 3,600.00	\$	2,914.00		\$	2,914.00	\$	686.00
	3C0	\$ -	\$	391.50		\$	391.50	\$	(391.50)
Adoption	3D0	\$ 5,000.00	\$	1,658.50	\$ 1,388.00	\$	3,046.50	\$	1,953.50
	3E0	\$ 2,260.00	\$	-		\$	-	\$	2,260.00
Total		\$ 71,650.00	\$	52,354.20	\$ 1,388.00	\$	53,742.20	\$	17,907.80

Professional Services from December 3, 2022 to December 31, 2022

Job	REV	Review and Adoption				
Task	3D0	revise and submit plan				
Labor Charges						
			Hours	Rate	Amount	
Vice President	t					
Kieffer, Ja	nna		.40	185.00	74.00	
Engineer / Sci	10.000	cialist III				
Williams,	Sterling		7.80	155.00	1,209.00	
Personnel II	1000		1.00	105.00	105.00	
Nypan, Ny	yssa .		9.20	103.00	1,388.00	
	Subtot	tal Labor	5.20		1,500.00	1,388.00
	Jubio					1,500.00
				Task S	ubtotal	\$1,388.00
				Job S	ubtotal	\$1,388.00
				Total this	Invoice	\$1,388.00

Thank you in advance for your prompt processing of this invoice. If you have any questions, please contact Greg Williams, your Barr project manager at 952.832.2945 or email at gwilliams@barr.com.

Barr declares under the penalties of law that this account, claim or demand is just and no part of it has been paid.

Authorized By:

Janna Kieffer

Billing Backup

Tuesday, January 31, 2023

Barr Engineering Co.		Invoi	Invoice 26 Dated 1/31/2023			8:29:42 AM	
Job	REV	Review and Adoption		ر يس يوم بجد پسر إسد أسا أسا أسا أشا أشار أ		3 M M M M M M M M M M M M M M M M M M M	
Task	3D0	revise and submit plan				 	
Labor Cl	narges						
			Hours	Rate	Amount		
Vice Pres	ident						
	Vice President						
JMK2	Kieffer, Janna	12/5/2022	.10	185.00	18.50		
	invoice review						
JMK2	Kieffer, Janna	12/22/2022	.20	185.00	37.00		
	review BWSR review m	emo					
JMK2	Kieffer, Janna	12/30/2022	.10	185.00	18.50		
	review invoice and bud	lget status					
Engineer	/ Scientist / Specialist III						
	Engineer / Scientist / Spe	cialist III					
SGW	Williams, Sterling	12/5/2022	1.50	155,00	232.50		
	Prep for subcommittee	meeting					
SGW	Williams, Sterling	12/8/2022	1.20	155.00	186.00		
	Prep for subcommittee	_					
SGW	Williams, Sterling	12/16/2022	.50	155.00	77.50		
	Review agency comme	nts; BWSR letter					
SGW	Williams, Sterling	12/19/2022	2.20	155.00	341.00		
	edits to plan for final						
SGW	Williams, Sterling	12/28/2022	2,40	155.00	372.00		
_		BWSR committee meeting					
	Personnel II						
	Support Personnel II						
NIN	Nypan, Nyssa	12/5/2022	.40	105.00	42.00		
NJN	Nypan, Nyssa	12/6/2022	.20	105.00	21.00		
NJN	Nypan, Nyssa	12/29/2022	.40	105,00	42.00		
			9.20		1,388.00		
	Subtotal La	abor				1,388.00	
				Task Sı	ubtotal	\$1,388.00	
				Job St	ubtotal	\$1,388.00	
				Total this	Project	\$1,388.00	
				Total this	Report	\$1,388.00	



INVOICE

Mr. Joe Barten Lower Mississippi River Water Mgmt. Org. c/o Dakota County SWCD Suite 102 4100 220th Street West Farmington, MN 55024 Barr Engineering Co. 4300 MarketPointe Drive, Suite 200 Minneapolis, MN 55435 Phone: 952-832-2600; Fax: 952-832-2601

FEIN #: 41-0905995 Inc: 1966

FEIN #: 41-0905995 Inc: 1966

Remittance address: Lockbox 446104 PO Box 64825 St Paul, MN 55164-0825

February 16, 2023

Invoice No:

23191476.00 - 11

Total this Invoice \$

\$11,904.00

Regarding: Lake Augusta Water Quality Improvement and Outlet Feasibility Study

This invoice is for professional services, which include the following:

- Developing watershed and in-lake water & phosphorus mass-balance modeling
- Evaluating potential BMPs and feasible lake outlet options
- Prepared for/attended meeting with Minnesota Department of Natural Resources and Department of Transportation on December 14, 2022 to discuss lake outlet options and permitting requirements
- Internal communications, invoicing, and project management

Task Number	Task	Budget	Current Invoice	Previously Invoiced	Total Billed	Remaining Budget	Percent Billed
1	Lake August Monitoring	\$13,000.00	\$0.00	\$15,841.73	\$15,841.73	(\$2,841.73)	122%
2	Watershed Monitoring	\$18,000.00	\$0.00	\$22,547.57	\$22,547.57	(\$4,547.57)	125%
3	Background and GIS Mapping	\$8,000.00	\$63.00	\$7,664.70	\$7,727.70	\$272.30	97%
4	Watershed modeling	\$9,500.00	\$1,530.00	\$9,086.50	\$10,616.50	(\$1,116.50)	112%
5	In-lake modeling	\$8,000.00	\$3,834.00	\$5,027.50	\$8,861.50	(\$861.50)	111%
6	Feasibility analysis/reporting	\$20,000.00	\$5,236.50	\$287.00	\$5,523.50	\$14,476.50	28%
7	Meetings/presentation	\$10,000.00	\$1,240.50	\$3,074.50	\$4,315.00	\$5,685.00	43%
5	Total	\$86,500.00	\$11,904.00	\$63,529.50	\$75,433.50	\$11,066.50	

Professional Services from December 3, 2022 to December 31, 2022

Job	0001	Lake Augusta Feasibility Study			
Task	003	Background and GIS mapping			
Labor Charge	es				
		Hours	Rate	Amount	
Engineer	/ Scientist / Speci	alist III			
Olso	n, Terri	.10	155.00	15.50	
Technicia	an II				
Meln	ner, David	.50	95.00	47.50	
		.60		63.00	
	Subtota	l Labor			63.00

Task Subtotal

\$63.00

Task

004

Watershed modeling

			Quality Improv	Ciricia	Invoice	11
Labor Charges						
-			Hours	Rate	Amount	
Engineer / S	cientist / Specia	alist IV				
Wilson,	Gregory		8.50	180.00	1,530.00	
			8.50		1,530.00	
	Subtotal	Labor				1,530.00
				Task S	ubtotal	\$1,530.00
Гask	005	In-lake modeling	WANTED TO THE PARTY OF THE PART			
abor Charges.						
			Hours	Rate	Amount	
Engineer / S	cientist / Specia	list IV				
Wilson,	Gregory		21,30	180.00	3,834.00	
			21.30		3,834.00	
	Subtotal	Labor				3,834.00
				Task S	ubtotal	\$3,834.00
ask	006	Feasibility analysis/repo	orting			
abor Charges						
			Hours	Rate	Amount	
Vice Preside	nt					
Kieffer, J	anna		.30	185.00	55,50	
Engineer / So	cientist / Specia	list IV				
Wilson,	Gregory		28.40	180.00	5,112.00	
Support Pers	· · · · · ·				·	
Nypan, N			.40	105.00	42.00	
Support Pers						
	ıt, Noella		.30	90.00	27.00	
			29.40		5,236.50	
	Subtotal	Labor			-,	5,236.50
				Task Si	ubtotal	\$5,236.50
- ask	007	Meetings/presentation				
abor Charges	007	Meetings/presentation				
_			Hours	Rate	Amount	
Vice Presider	nt					
Kieffer, J			1.50	185.00	277.50	
	cientist / Specia	list IV				
Wilson, (•		5.00	180.00	900.00	
Support Pers						
Nypan, N			.60	105.00	63.00	
2	•		7.10		1,240.50	
	Subtotal	Labor			,	1,240.50
				Task Su	ubtotal	\$1,240.50

Total this Invoice

\$11,904.00

Thank you in advance for your prompt processing of this invoice. If you have any questions, please contact Greg Williams, your Barr project manager at 952.832.2945 or email at gwilliams@barr.com.

Barr declares under the penalties of law that this account, claim or demand is just and no part of it has been paid.

Authorized By:

Janna Kieffer

Project	23191476,00	Lake Augusta Wa	ter Quality Improv	ement	Invoi	ce 11
Rillin	g Backup					24 0000
	neering Co.		invoice 11 Detect	4/24/2022	Tuesday, Ja	nuary 31, 2023
Dan Liigii		. — — — — — — — — — — — —	Invoice 11 Dated			8:57:04 AM
Job	0001	Lake Augusta Feasil	oility Study			
Task	003	Background and GIS	S mapping			
Labor Cha	arges					
			Hours	Rate	Amount	
	eer / Scientist / Special					
ΓAO	Olson, Terri Lab item	12/12/2022	.10	155.00	15.50	
Techr	nician II					
MLC	Melmer, David Field Files/Libary/File	12/14/2022 clean up	.50	95.00	47.50	
			.60		63.00	
	Subtotal	Labor				63.00
				Task S	ubtotal	\$63.00
ask	004	Watershed modeling			NAME SAME AND ADDRESS SAME SAME SAME SAME SAME SAME SAME S	== == == == == == == == == == = = = =
abor Cha	araes		3			
			Hours	Rate	Amount	
Engin	eer / Scientist / Special	ist IV				
JW	Wilson, Gregory	12/5/2022	1.50	180.00	270,00	
JW	Wilson, Gregory	12/7/2022	2.00	180.00	360.00	
JW	Wilson, Gregory	12/8/2022	5.00	180,00	900.00	
			8.50		1,530.00	
	Subtotal	Labor				1,530.00
				Task S	ubtotal	\$1,530.00
ask	005	In-lake modeling	PRI PRI 1971 PRI 1971 PRI 1971 PRI 1971 PRI 1971 PRI 1971			
abor Cha	irges		11	D- 4.		
Englin	eer / Scientist / Special	ict IV	Hours	Rate	Amount	
JW	Wilson, Gregory	12/5/2022	4.80	180.00	864.00	
JW	Wilson, Gregory	12/6/2022	7.80	180.00	1,404.00	
JW	Wilson, Gregory	12/8/2022	2.70	180.00	486.00	
JW	Wilson, Gregory	12/9/2022	6.00	180.00	1,080.00	
			21.30		3,834.00	
	Subtotal	Labor				3,834.00
					ubtotal	\$3,834.00

Task 007 Meetings/presentation Labor Charges Hours Rate Amount	Project	23191476.00	Lake Augusta Water Qu	uality Improv	ty Improvement		ice 11
Note President Note President Note	Task	006	Feasibility analysis/report	ting		00 100 to 100 100 100 100 100 100 100 100 100 10	
Note President Note President Note	Labor Cha	irges	,	_			
MK2 Kieffer, Janna 12/29/2022 30 185.00 55.50		_		Hours	Rate	Amount	
review invoke, budget status, communication Engineer / Scientist / Specialist IV GIW Wilson, Gregory 12/4/2022 8.50 180.00 1,350.00 GJW Wilson, Gregory 12/4/2022 8.50 180.00 1,530.00 GJW Wilson, Gregory 12/6/2022 5.0 180.00 90.00 GJW Wilson, Gregory 12/8/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/12/2022 6.80 180.00 1,224.00 GJW Wilson, Gregory 12/12/2022 6.80 180.00 450.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 GJW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 SUPPORT Personnel II NIN Nypan, Nyssa 12/26/2022 4.0 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 3.0 90.00 27.00 Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor 5.22 Task Subtotal Status update IMK2 Kieffer, Janna 12/5/2022 1.10 185.00 185.00 37.00 meeting scheduling IMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 meeting scheduling IMK2 Kieffer, Janna 12/14/2022 1.20 185.00 37.00 meeting scheduling IMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 ming w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/13/2022 1.50 180.00 450.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 450.00 Support Personnel II NNN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/5/2022 2.0 105.00 21.00 NJN Nypan, Nyssa 12/6/2022 3.0 105.00 21.00 NJN Nypa	Vice P	resident					
Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/3/2022 7.50 180.00 1,350.00 GJW Wilson, Gregory 12/4/2022 8.50 180.00 1,530.00 GJW Wilson, Gregory 12/6/2022 .50 180.00 90.00 GJW Wilson, Gregory 12/8/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 1,224.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 Support Personnel II NJIN Nypan, Nyssa 12/26/2022 40 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 3.0 90.00 27.00 Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor 29.40 5,236.50 Subtotal Labor 40.00 Task Subtotal 5.22 Task Subtotal 5.24	JMK2	Kieffer, Janna	12/29/2022	.30	185.00	55.50	
GJW Wilson, Gregory 12/3/2022 7.50 180.00 1,350.00 GJW Wilson, Gregory 12/4/2022 8.50 180.00 1,530.00 GJW Wilson, Gregory 12/6/2022 5.50 180.00 90.00 GJW Wilson, Gregory 12/8/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/12/2022 6.80 180.00 1,224.00 GJW Wilson, Gregory 12/12/2022 6.80 180.00 450.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 Support Personnel II NJN Nypan, Nyssa 12/26/2022 4.0 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 3.0 90.00 27.00 Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor Fask Wilson Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor Subort Resonnel I NJN Nypan, Nysan 12/5/2022 1.10 185.00 18.50 18.50 MMK2 Kieffer, Janna 12/5/2022 1.10 185.00 18.50 18.50 MMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 Meeting scheduling MMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 Mmg wilson, Gregory 12/14/2022 1.20 185.00 222.00 Mmg wilson, Gregory 12/14/2022 1.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 1.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 42.00 NJN NJpan, NJp		review invoice, budget s	status, communication				
GJW Wilson, Gregory 12/4/2022 8.50 180.00 1,530.00 GJW Wilson, Gregory 12/6/2022 5.50 180.00 90.00 GJW Wilson, Gregory 12/6/2022 1.50 180.00 90.00 GJW Wilson, Gregory 12/12/2022 6.80 180.00 1,224.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 Support Personnel II NJN Nypan, Nyssa 12/26/2022 40 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 30 90.00 27,00 Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor Fask Subtotal Status update Wice President IMK2 Kieffer, Janna 12/5/2022 1.0 185.00 37,00 meeting scheduling IMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37,00 meeting scheduling IMK2 Kieffer, Janna 12/14/2022 1.20 185.00 37,00 meeting scheduling IMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mtng w/DJNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/6/2022 2.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 7.10 1,240.50 Subtotal Labor Subtotal Su	Engine	eer / Scientist / Specialis	t IV				
G/W Wilson, Gregory 12/6/2022 .50 180.00 90.00 G/W Wilson, Gregory 12/8/2022 1.50 180.00 270.00 G/W Wilson, Gregory 12/12/2022 6.80 180.00 1,224.00 G/W Wilson, Gregory 12/13/2022 2.50 180.00 450.00 G/W Wilson, Gregory 12/13/2022 2.50 180.00 450.00 G/W Wilson, Gregory 12/14/2022 1.10 180.00 198.00 Support Personnel II NINN Nypan, Nyssa 12/26/2022 4.0 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 3.0 90.00 27.00 Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor Subtotal Labor Amount Vice President JMK2 Kieffer, Janna 12/5/2022 1.0 185.00 18.50 status update JMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 270.00 G/W Wilson, Gregory 12/13/2022 1.50 180.00 270.00 G/W Wilson, Gregory 12/13/2022 1.50 180.00 270.00 G/W Wilson, Gregory 12/13/2022 1.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 40 105.00 42.00 NJN Nypan, Nyssa 12/5/2022 40 105.00 42.00 NJN Nypan, Nyssa 12/5/2022 40 105.00 42.00 NJN Nypan, Nyssa 12/5/2022 40 105.00 21.00 T.10 1,240.50 Subtotal Labor	GJW	Wilson, Gregory	12/3/2022	7.50	180.00	1,350.00	
GJW Wilson, Gregory 12/8/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/12/2022 6.80 180.00 1,224.00 GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 Support Personnel II NJN Nypan, Nyssa 12/26/2022 4.0 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 3.0 90.00 27.00 Created folder in BarrCAT for DJM 29,40 5,236.50 Subtotal Labor Task Subtotal \$5,23 Task Subtotal \$1,27 Task Su	GJW	Wilson, Gregory	12/4/2022	8.50	180.00	1,530.00	
GIW Wilson, Gregory 12/12/2022 6.80 180.00 1,224.00 GIW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GIW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 Support Personnel II NIN Nypan, Nyssa 12/26/2022 4.0 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 3.0 90.00 27.00 Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor 5,236.50 Subtotal Labor Hours Rate Amount Vice President Vice President Vice President Vice President Vice Refer, Janna 12/5/2022 1.0 185.00 18.50 status update ViMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 meeting scheduling ViMK2 Kieffer, Janna 12/6/2022 1.20 185.00 37.00 meeting scheduling ViMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mmg w/DNR and MPCA Engineer / Scientist / Specialist IV GIW Wilson, Gregory 12/17/2022 1.00 180.00 180.00 GIW Wilson, Gregory 12/14/2022 2.50 180.00 270.00 GIW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 NJN Nypan, Nyssa 12/6/2022 3.0 105.00 21.00	GJW	Wilson, Gregory	12/6/2022	.50	180.00	90.00	
GJW Wilson, Gregory 12/13/2022 2.50 180.00 450.00 GJW Wilson, Gregory 12/14/2022 1.10 180.00 198.00 Support Personnel II NJN Nyan, Nyssa 12/26/2022 .40 105.00 42.00 Support Personnel I NHM Merchant, Noella 12/14/2022 .30 90.00 27.00 Created folder in BarrCAT for DJM 29.40 5,236.50 Subtotal Labor Subtotal Labor Fask Subtotal Status update JMK2 Kieffer, Janna 12/5/2022 .10 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 .20 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 .20 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 .20 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 .20 185.00 222.00 ming w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/17/2022 1.00 180.00 180.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 40 105.00 42.00 NJN Nypan, Nyssa 12/5/2022 40 105.00 21.00 7.10 1.240.50 Subtotal Labor 1.24	GJW	Wilson, Gregory	12/8/2022	1.50	180,00	270.00	
Support Personnel NJN Nypan, Nyssa 12/26/2022	GJW	Wilson, Gregory	12/12/2022	6.80	180.00	1,224.00	
Support Personnel II	GJW	Wilson, Gregory	12/13/2022	2.50	180.00	450.00	
NJN	GJW	Wilson, Gregory	12/14/2022	1.10	180.00	198.00	
Support Personnel NHM	Suppo	ort Personnel II					
NHM Merchant, Noella 12/14/2022 .30 90.00 27.00			12/26/2022	.40	105.00	42.00	
Subtotal Labor Subtotal Labor Charges Hours Rate Amount	Suppo	ort Personnel I					
Subtotal Labor Subt	NHM			.30	90.00	27.00	
Task Subtotal Labor Task Subtotal \$5,23		Created folder in BarrCA	AT for DJM				
Task Subtotal \$5,25 Task 007 Meetings/presentation Labor Charges Hours Rate Amount				29.40		5,236.50	
Task 007 Meetings/presentation Labor Charges Hours Rate Amount		Subtotal La	bor				5,236.50
Hours Rate Amount Vice President UMK2 Kieffer, Janna 12/5/2022 1.10 185.00 18.50 status update UMK2 Kieffer, Janna 12/6/2022 2.20 185.00 37.00 meeting scheduling UMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mtng w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 Subtotal Labor 1,240.50 Subtotal Labor 1,244.50					Task S	ubtotal	\$5,236.50
Hours Rate Amount	Task	007	Meetings/presentation				
Hours Rate Amount	Labor Cha	raes	J . 1				
Vice President JMK2 Kieffer, Janna 12/5/2022 1.0 185.00 18.50 status update JMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mtng w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/7/2022 1.00 180.00 180.00 37.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 7.10 1,240.50 Subtotal Labor 1.24 Task Subtotal \$1,24		•		Hours	Rate	Amount	
JMK2 Kieffer, Janna 12/5/2022 1.0 185.00 18.50 status update JMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mtng w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/7/2022 1.00 180.00 180.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 Task Subtotal Labor 1,244	Vice P	resident				7	
status update JMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mtng w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/7/2022 1.00 180.00 180.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 Task Subtotal Labor Task Subtotal \$1,24			12/5/2022	.10	185.00	18.50	
JMK2 Kieffer, Janna 12/6/2022 2.0 185.00 37.00 meeting scheduling JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mtng w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/7/2022 1.00 180.00 180.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 7.10 7.240.50 Subtotal Labor 1,244			, -,		, 02,00	10,00	
MK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00	JMK2	•	12/6/2022	.20	185.00	37.00	
JMK2 Kieffer, Janna 12/14/2022 1.20 185.00 222.00 mtng w/DNR and MPCA Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/7/2022 1.00 180.00 180.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,244		· ·	. •	•			
Engineer / Scientist / Specialist IV GJW Wilson, Gregory 12/7/2022 1.00 180.00 180.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24	JMK2	Kieffer, Janna	12/14/2022	1.20	185.00	222.00	
GJW Wilson, Gregory 12/7/2022 1.00 180.00 180.00 GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 .40 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 .20 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24		mtng w/DNR and MPCA	1				
GJW Wilson, Gregory 12/13/2022 1.50 180.00 270.00 GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 4.0 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 2.0 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24	Engine	eer / Scientist / Specialist	t IV				
GJW Wilson, Gregory 12/14/2022 2.50 180.00 450.00 Support Personnel II NJN Nypan, Nyssa 12/5/2022 .40 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 .20 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24	GJW	Wilson, Gregory	12/7/2022	1.00	180.00	180.00	
Support Personnel II NJN Nypan, Nyssa 12/5/2022 .40 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 .20 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24 Task Subtotal \$1,24	GJW	Wilson, Gregory	12/13/2022	1.50	180.00	270.00	
NJN Nypan, Nyssa 12/5/2022 .40 105.00 42.00 NJN Nypan, Nyssa 12/6/2022 .20 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24 Task Subtotal \$1,24	GJW	Wilson, Gregory	12/14/2022	2.50	180.00	450.00	
NJN Nypan, Nyssa 12/6/2022 .20 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24 Task Subtotal \$1,24	Suppo	ort Personnel II					
NJN Nypan, Nyssa 12/6/2022 .20 105.00 21.00 7.10 1,240.50 Subtotal Labor 1,24 Task Subtotal \$1,24	NJN	Nypan, Nyssa	12/5/2022	.40	105.00	42.00	
7.10 1,240.50 Subtotal Labor 1,24 Task Subtotal \$1,24	NJN			.20			
Subtotal Labor 1,24 Task Subtotal \$1,24		· · · ·					
Task Subtotal \$1,24		Subtotal La	bor			,	1,240.50
Job Subtotal \$11,90					Task Sı	ubtotal	\$1,240.5(
ψε fyd van					Job Si	ubtotal	\$11,904.00
Total this Project \$11,90							\$11,904.00

701 XENIA AVENUE S SUITE 300 MINNEAPOLIS, MN 55416



Lower MS River WMO

Attn: Joe Barten 125 Third Ave N

So. St. Paul, MN 55075

February 21, 2023

Project/Invoice:

R-020683-000 - 7

Reviewed by: Project Manager: Jacob Newhall Laura Rescorla

Interstate Valley Creek Study

Professional Services from January 1, 2023 to January 31, 2023

Phase 002 Assessment of Interstate Valley Creek Er

Evaluate Streambank Stabilization Measur

Hours Rate Amount Phillips, Samuel .50 106.00 53.00 Totals .50 53.00 **Total Labor**

53.00

Total this Task

\$53.00

Prioritization and Cost Estimate

Hours Rate **Amount** Anderson, Amy 1.00 155.00 155.00 Totals

Total Labor

1.00 155.00

Total this Task

155.00 \$155.00

Total this Phase

\$208.00

Phase

003

Assessment of Interstate Valley Creek Tr

Report Writing

Hours Rate **Amount** Anderson, Amy 1.00 155.00 155.00 Totals 1.00 155.00

Total Labor

Total this Task

155.00

\$155.00

Total this Phase

\$155.00

Phase

004

Watershed Analysis Study to Identify BMP

Watershed Modeling and Analysis

		WMO - Interstate Valley	Orccit Olday	Invoice	7
		Hours	Rate	Amount	
Lopez, Karla		10.50	114.00	1,197.00	
Rescorla, Lau	ra	2.00	137.00	274.00	
riodoria, Eda	Totals	12.50	107.00	1,471.00	
	Total Labor	12.50		1,47 1.00	1,471.00
			Total th	is Task	\$1,471.00
			i otal tri	is rusk	Ψ1,411.00
			Total this	Phase	\$1,471.00
Phase	005 Final D	eliverables			
Report Writing - In	terstate Valley Creek				
		Hours	Rate	Amount	
Anderson, Am	v	32.00	155.00	4,960.00	
Jakes, Monica	•	.75	88.00	66.00	
Lopez, Karla		7.00	114.00	798.00	
Turturillo, Gian	ina	11.50	114.00	1,311.00	
	Totals	51.25	114.00	7,135.00	
	Total Labor	31.20		7,100.00	7,135.00
	, oldi Edboi				7,133.00
			Total th	is Task	\$7,135.00
Report Writing - W	atershed Analysis and				
		Hours	Rate	Amount	
Jakes, Monica		5.25	88.00	462.00	
Lopez, Karla		17.25	114.00	1,966.50	
	Totals	22.50		2,428.50	
	Total Labor				2,428.50
			Total th	is Task	\$2,428.50
			Total this	Phase	\$9,563.50
Billing Limits		Current	Prior	To-Date	
Total Billings		11,397.50	57,873.25	69,270.75	
Limit		·	•	69,298.00	
Remaining				27.25	
				•	



MEMORANDUM

To:

Nancy Bauer

From:

Joe Barten, LMRWMO Administrator

Subject:

Lower Mississippi River - Financial Actions

Date:

February 21, 2023

Enclosed please find the following invoice for payment:

 \$11,397.50 to WSB for the FY-2019 Watershed Based Implementation Funding, Interstate Valley Creek study.

Thank you and please contact me with any questions.

Joe Barten

Administrator via Dakota County SWCD

Doe Barten

Lower Mississippi River Watershed Management Organization

Enclosed: WSB Invoice R-020683-000-7